M AEDOZEBMSHEEREERH0E1 .91 BAITE) (8 v1o00-~)LNE)

A E SR HAlE 3 . o AIERER
— | E 15 =
(FrE i) Xz AEHAT (H2) (1 Su/h)
. 100 0.033
e AE 1898 | AEDRHE o
HEA2—10—1 = Bcm 0.037
= = ABERKEA R 5cm 0.038
. 100cm 0.038
JLETAE 1gog | AEBPRME Som 0.037
tET5—24—6 = ABEA O ERA
BRI 5cm 0.054
_ . 100 0.027
S+ ADGOCAE | 1898 | AEPRME o
S+A3—3—3 = B5cm 0.025
= = AEFEEIAQHEKO 5cm 0.043
. . 100 0.045
CIEEAE 1R9A | AERRMAE e
= = FRYEFHE B5cm 0.045
; ) . 100 0.039
ERD 111 E| ABERRMEE o
+ 5cm 0.043
ARy E1—8—7 A o
FRIEfE 5cm 0.043
. 100 0.028
PN 1B AE| ABRRRME em
T4 —10—47 & Sem 0021
7t BE A O A E 5cm 0.037
ASODNENE |y gig | AEPRME oo 00
$§5_20_9 =+ 5cm 0043
A B AAEA 5cm 0.046
100cm 0.059
/\ < ’Fr
BETEAMAE 18118 AE R 5cm 0.062
mEr3—26—13 & B3 (H24/1/13 ) 0.065
HESEHR (H24/1/13 EHE)|  OOM 0.075

BITEHESS  IBIEMETHEE=4 HORIBA PA-1000 Radi GRIFESS DFAXTIERIZE 10%)




I AEOZEME SR =R ERE R (H30 &£ 1 A,22,30 BEITE) (@i <w1o05-~JLk/E)

B E G HlE 8 . o AEFER
i ,ﬂl [=—— =] :
(i) Xz AEZ (&) (1 Sv/h)
\ 100cm 0.041
ERNAE 1A22H BEPRTE 5cm 0.044
HFE2—-19—1 ES ARlE A D
S — BB ocm 0.053
. 100 0.042
L ETAE 128 | SEhRHE om
ItET5—24—6 E= oo 0.048
AT S Al 5cm 0.045
- . 100 0.035
=+ AbCHAE |1 28 | ABGRAE o
=+A3—3—3 = 5cm 0.035
= NEHRIBEAT S5cm 0.056
\ 100cm 0.051
b ¢ /N | 1Ro2g | DEMRME 5cm 0.059
BAEEf2—8—14 = CIFENE 1/2
KRB T3 Sem 0.052
; . . 100 0.037
EROt 1838 | SEPRHE o
+ 5cm 0.050
By ZE1—8—7 5 -
HEAIA O 5cm 0.046
1 0.02
EP TN 1B308 | AEbRME 00cm 8
Bhi4—10—47 | K oom 00371
7T HEA O R Sem 0.042
: . 100 0.039
AEHMNIAE 18308 | ABhREE o
A%5—20—9 " 5cm 0.039
R Bl p R AR 5cm 0.049
100cm 0.061
/\ y ‘ﬁ
FAETSANAE 1830 H AEhRATIE 5cm 0.070
mEr3—26—13 5 Bt (H24/1/13 FH) 0.071
YRR Hh (H24/1/13 EHE) Scm 0.081

ITEHESE  IRIEETHRE=4 HORIBA PA-1000 Radi GRITE S5 DX 5 RIS ZE 10%)




